7Y — Padayl s’
BT R (ARSI [E4m 3 HE) H23/08/15
I— FETE%)  FETREFIZA)  FEFIZRA)
BOEMEHEY =E3 12.2 37 304
thDEkE - 2B ACARR 28.6 2 7
IrEEMRERICARE 50.0 1 2
1t SEAU R IC AR 0.0 0 1
Z0ith 0.0 0 1
B 12.7 40 315
HEOEMHEM =E3 2.6 10 380
thDEkE - 2B ARCARR 0.0 0 6
IrEEMRERICARE 20.0 1 5
1t SEAU R IC AR 0.0 0 1
Z0ith 100.0 1 1
B 3.1 12 393
EBEOEEEHEY =E3 2.7 6 222
thDEkE - 2B ACARR 0.0 0 6
NEMEICARR 100.0 1 1
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
21k 3.1 7 229
SEXPSIUMOENEHEY |BE 13.0 47 361
thDEkE - 2B ACARR 66.7 4 6
IrEERERICARE 25.0 1 4
1t SEA R IC AR 100.0 [ 1
Z0ith N/A 0 0
21k 14.2 53 372
SMLmHIEE =E3 12.8 24 188
thDEkE - 2B ACARR 30.0 3 10
IrEERERICARE 25.0 1 4
1t SEA R IC AR 50.0 1 2
Z0ith 100.0 1 1
B 14.6 30 205
fiti ¢ =E3 4.8 64 1343
thDEkE - 2B ACARR 31.0 9 29
IrEERERICARE 30.4 31 102
1t SEA MR IC AR 20.8 5 24
Z0ith 10.0 1 10
B 7.3 110 1508
I B =E3 0.4 1 236
thDEkE - 2B A CARR 0.0 0 [
IrEERERICARE 0.0 0 3
1t SEA R IC AR 0.0 0 1
Z0ith 0.0 0 1
B 0.4 1 242
[REEES =E3 7.1 34 476
thDEkE - 2B ACARR 5.5 3 55
IrEERERICARE 31.0 13 42
1t SEA MR IC AR 14.3 1 7
F0ith 25.0 1 4
2% 8.9 52 584
i HH HE 17.7 31 175
thDEkE - 2B ACARR 3.8 2 52
IrEERERICARE 28.6 2 7
1t SEA R IC AR 0.0 0 2
Z0ith 0.0 0 2
B 14.7 35 238
FEPRIA =E3 0.0 0 316
thDEkE - 2B ArCARR 0.0 0 3
IrEERERICARE 0.0 0 3
1t SEAU MR IC AR N/A 0 0
Z0ith 0.0 0 3
B 0.0 0 325
KIEEEEHER =E3 3.7 7 187
thDEkE - 2B ArCARR 2.7 1 37
IrEERERICARE 0.0 0 33
1t SR IC AR 0.0 0 8
Z0ith 0.0 0 1
B 3.0 8 266
BiEE =E3 1.8 1 55
thDEkE - 2B ARCARR 0.0 0 1
IrEERERICARE 0.0 0 1
1t SEA R IC AR 33.3 1 3
Z0ith N/A 0 0
B 3.3 2 60




7Y — Padayl s’
BT R (ARSI [E4m 3 HE) H23/08/15
| FETE%)  FETREFIZA)  FEFIZRA)
SR & =E3 0.0 0 474
thDEkE - 2B ACARR 0.0 0 3
IrEEMRERICARE 0.0 0 13
1t SEAU R IC AR 0.0 0 1
Z0ith 0.0 0 1
B 0.0 0 492
SRER =E3 0.0 0 165
thDEkE - 2B ARCARR 0.0 0 [
IrEEMRERICARE N/A 0 0
1t SEAU R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 166
RE R iE =E3 0.3 1 373
thDEkE - 2B ACARR 0.0 0 6
IrEERERICARE 0.0 0 16
1t SEA R IC AR 0.0 0 1
Z0ith 0.0 0 1
B 0.3 1 397
BT 3L AR AR KA =E3 0.0 0 66
thDEkE - 2B ACARR 0.0 0 [
IrEERERICARE 0.0 0 1
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 68
BNE =E3 0.0 0 501
thDEkE - 2B ACARR 0.0 0 [
IrEERERICARE 0.0 0 3
1t SEA R IC AR 0.0 0 2
Z0ith N/A 0 0
B 0.0 0 507
F¥ =E3 0.0 0 41
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA MR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 41
FEMmiE =E3 0.0 0 117
thDEkE - 2B A CARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 117
HIViE =E3 0.1 1 1130
thDEkE - 2B ACARR 0.0 0 10
IrEERERICARE 0.0 0 3
1t SEA MR IC AR N/A 0 0
Z0ith 0.0 0 4
B 0.1 1 1147
BHERARURERER =E3 0.0 0 202
thDEkE - 2B ACARR 0.0 0 6
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.0 0 209
AEDEMHEM =E3 1.2 2 172
thDEkE - 2B ArCARR 0.0 0 2
IrEERERICARE N/A 0 0
1t SEAU MR IC AR N/A 0 0
Z0ith N/A 0 0
B 1.1 2 174
FRBE & AE =E3 0.0 0 91
thDEkE - 2B ArCARR 0.0 0 [
IrEERERICARE N/A 0 0
1t SR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 92
BREAILZT =E3 0.4 1 252
thDEkE - 2B ARCARR 0.0 0 3
IrEERERICARE 0.0 0 1
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
2K 0.4 1 257




